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Problem description

0102300405
2030010540
4210003050
0304050120
1003245000

N rows, M columns. (M > N)
Each row contains exactly one x for any 1 <= x <= N.

Each column contains no more than one x for any 1 <= x <= N.



Problem description

0102300444
2030010555
4210003333
0304050111
1003222222

Truncate each row as shown above.
We want to keep the property that each column contains no more than one x.

Give an O(NM) algorithm.



Partial credit solution

Brute force.




Full credit solution

Gale-Shapley Stable Matching (or equivalent forms).




What's Gale-Shapley Stable Matching?
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What's Gale-Shapley Stable Matching?
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What about this problem?
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